Operaciones con Nimeros Octales (H)

5565
X 44g

1025105| 244

5264
X 16g

41214
X 308

51653
X 42g

Calcule cada respuesta.

3372105|415

363344457

1774305224

3211124665

65455
X 123

53343
X 50g

712525]32¢

76623
X 458

27204
X 4Tg

4541224|534

1467405/665

543705|145

7610g

X 438

727745|445

2531623|715
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Operaciones con Nimeros Octales (H) Respuestas

5565
X 44g

315703

1025105| 244
32524

5264
X 16g

1127305

41214
X 308

1436305

51653
X 42g

2616124

Calcule cada respuesta.

337210g|414
66105

3633444575
51344

1774305|225
70544

3211124665
36775

65455
X 128

6043424

53343
X 508

3311403

712525]32¢
21514

76623
X 458

4422724

27204
X 4Tg

1612605

4541224|534
67665

1467405665
17205

543705145
35525

76103
X 438

417630

727745|445
15075

2531623|715
30025
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